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2017
ECONOMICS
( Major )
Paper : 1.1

( Microeconomics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
were frprRa ot Te for

fa) is the root cause of all economic
r problems,

( Fill in the blank )
9 e SARSE TR T IR
(A& 3 [T FAN)

{p) What is sunk cost?
- SPEE I $ 72
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What is an isoquant?

ABLATECIA 2

Define Engel curve.

qTege I AL faan |

What do you mean by change in scale?

Teofa TR RIS foreat & @ 2

What is income consumption curve?

g TSIl IF $ 2

Define equilibrium.

SRATYOR F@ 7 |

Define factor elasticity of substitution.

e T RiSwereer i fan

What would be the shape of indifference
curve if MRS increases?

I MRS 3% M, cofm Faeers @@ aRpfe
PP 237

Draw the demand curve in case of
Giffen good.

e TR oifd @UreE S 9

{ Continueg

v

(3)
2. Answer the following questions :
o R T o
(@) Show that MC = TVC, -TVC, _,.

(b)
-

(c)
‘

(d)

g
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(ST @ MC = TVC,, -TVC, _,

Distinguish between explicit cost and
implicit cost.

TN I HF FAFPT T TSI <14 oy |

What are stable and unstable
equilibrium?

sﬁawwﬁamﬁ?

How is elasticity of demand associated
with Average Revenue and Marginal
Revenue?

e WA WE 2AfeT o, TR RfSwerer
TS @A RS 9

Point out the differences between
marginal rate of substitution and
marginal rate of technical substitution.

AfSFER AT W W IRWA AR
o1fE® 2R NLF gferarz i |
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(4)

3. Answer any four of the following questions : .
SX4=2§

oo R el 101 2R BT fora

.

{a) Explain the "assumptions of indifference
curve analysis.

Raers @ RemaR SfSeRaprz arm 41 |

(b) What happens when working of market
is interfered?

JERA IR oo IR R =

ot mrr e et c—_

y Explain the concept of consumer’s
surplus with the help of indifference

curve. :
H

R (@4 IO (STOR B78 ¢RenfS
LAl

(d) Distinguish between short-run and
long-run expansion path.
TREEA WF AN TR qa TS
o2 fordn |
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\(M)et‘ive Engel curve in case of a normal

g

(S)

good.

TR WR (FIS GG IF (ICALE IR R
o o

“Indifference curves never intersect.”
Why?

“fAqorE (@R (@SS ForFfs 7T 17 7

4. Answer the following questions :

ool PP e for

{gf’ Distinguish between static and dynamic
equilibrium. 1C
RN o afoMe ST & e & o

Or/ a1
Explain Hicksian and  Slutsky’s
substitution effects. Which one is
superior? 8+2=1¢(
Hicks &% Slutsky3 afeFs@ Res 3efy
41 1 (I B ?
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(7)

(6)

(d) Explain how profit is maximized with
: f R is.
(5) For equilibrium, why should marginal / the help of Revenue and Cost analysis 10
o HE G R[S e @Feis Wk

utility of money be equal to the ratio of
marginal utility to the price of each IO, I FA1

good? . 10
SR Aed A, AR el afss Or / JRT
Toiel W e S [y oy
%ﬂmﬁjﬁwi’a ?;3 ? e Explain how a producer attains
; . - equilibrium under different budget
Or / 4R ' constraints.
H 1d you derive demand | 9w SRR RSa Wt afvmees
ow wou curve ;
with the help of indifference curve \ @A SN TS T, TWR o o
technique? 10 :
! * % %

fRors @9 (FPER TS SR AN QTS
e FRI 1R 2

10

R T

y Explain various types of returns to
scale.

) Beofm WA A AT AfSTTTR 361 37 1
Or/ 9%

10

Explain the concepts of increasing
return, decreasing return and negative
return in case of variable proportion
production function. 10
ARTETNA oS oM FAA CFGS (73]
. Fadam afonm, FEPEM dform e
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